TH3E09 A 218 (KER)

R RENFEHIS (A15) 2B B #H

B EEHMBE: 3131 b
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)

130100 |[7ZLNC A # 34,880

dtiEE 21,130 3,430 17,700 10 1,728 864 2,160 864

£E 13,750 4,685 9,065 10 1,296 648 1,512 540
130340 [£ICALCA a3 16,490

dtiEE 15,670 1,590 14,080 10 1,728 540 1,728 670
130400 [Z (S5 3 1,630

dtiEE 140 0 140 10 3,024 2,700

H 250 10 240 10 3. 240 3,240

HE 300 0 300 10 2,484

thE 180 0 180 10 896
130600 |[LA A % 2,183

i L 160 0 160 5 2,700 1,080

= 1,815 10 1,805 5 3. 780 4,104 1,080
131100 | 3% #a 34,770

£ 34,770 19,710 15,060 15 3. 240 1,242 4,104 648
131700 [Fr Y a3 52,250

HE 37,650 13,300 24,350 15 1,037 1,004 1,048 983

R 14,600 3,200 11,400 10 1,566 432 1,566 432
131800 |[[(F5 N AE % 1,540

EH 12 0 12 0.2 194

I BB 1,296 4 1292 3.6 4, 320 4,752 3,024

EE 192 192 of o2 186 173
131910 [FH=F % 3,816

N 52 0 52 0.5 702 302

£E 30 3 28] 05 302 302 270

i L 290 0 290 1 1,404 432

E 1,999 0 1,999 10 3,132 2,430

iR 1,405 25 1,380 5 Z. 430 3,780 2,700
131950 |4 % 10,470

dtiEE 8,235 2,500 5,735 5 2. 160 1,944 2,160 1,188

B 885 459 426 3 1,728 1,188 1,944 918
133400 [L B R a3 26,330

K& 26,330 13,050 13,280 10 3. 132 1,080 3,780 1,350
134100 [#A)1 3 21,883

dtiEE 3,900 1,000 2,900 5 2,592 2,376 2,916 2,236
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TH3E09 A 218 (KER)

R RENFEHIS (A15) 2B B #H

Frx ESEfAsE: 3131 b
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
Lz 1,535 250 1,285 5 1,944 2,484 1,782
25 325 325 0 10 2,646
HE 205 0 205 5 1,609
it 1,955 100 1,855 5 2,160 2214 1,620
£E 550 162 388 8 3,974 3,974 3,629
®me 768 120 648 5 2,160 1,512 1,080
&Il 3,140 310 2,830 5 2,268 1,620 2,808 1,188
BE 6,585 1,055 5,530 5 2. 484 1. 674 2,808 1,080
134200 |F 1 ¥ 2,360
dtiEE 2,300 0 2,300 10 - - - 1,620 1,296
134300 | A F ¥ 9,416
KR 96 28 68 4 2,160 2,376 1,080
£E 795 655 140 5 2,700 1,080 2,808 1,836
=R 480 360 120 5 2,268 1,944 2,700 1,080
®me 2,648 692 1,956 5 3,024 Z. 160 3,240 1,944
iR 2,393 24 2,369 04 184 194 86
= 108 12 96 0.3 227 227
HEAR 360 0 360 8 4,536
134400 |F<+ % 21,798
FE 2,304 0 2,304 4 2,592 1,728
Is; B 18,932 2,400 16,532 q Z. 808 1, 836 3,024 1,620
iR 384 0 384 4 2,592 2,376
134500 [E—< > ¥ 17,397
EE 3,745 1,175 2570 0.15 65 70 49
IR 2,682 450 2232 0.15 70 70 32
135100 [LNAVIF A 3 166
dtiEE 166 22 144 /] Z,700 Z. 316 3,024 1,296
136100 [MAL & 3 23,405
FIE 545 0 545 5 1,728 1,512
EE 7,940 545 7,395 5 Z 268 1,782 2,451 864
= % 2,070 450 1,620 5 2,052 1,026 1,728 864
136200 [ E#5Z 3 5,100
dtiEE 5,100 4,900 200 10 Z, 160 1,512 1,944
136210 [A—2 1> 3 6,260
dtiEE 6,260 890 5,370 10 Z, 808 1. 404 2,808 702
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PR REFETS (KI5) BEB#HK
L3409 B 218 (AER)

Frx ESEfAsE: 3131 b
(ERISHERESD)
fnfh fnfh EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
136300 [ B ¥ % 2,110
iR 1,910 660 1,250 10 4,320 Z, 808 4,320 2,700
fE 200 0 200 10 1,728
136600 [f=F4=E 3 12,440
dtiEE 5,600 5,100 500 20 2,203
EE 6,840 6,840 0 20 3, 629 2. 754
138100 | LLM=1F ¥ 2,908
EE 662 0 662] 0.1 124 43
mE 1,288 30 1258 0.2 259 281 162
138500 |[LHLE m 3,464
= 3,460 810 2650 0.2 81 68 81 65
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TH3E09 A 218 (KER)

R RENFEHIS (A15) 2B B #H

= EISEfA%E: 552 b
(ERISHERESD)
fnfh fnfh EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)

240400 [ R4 BN A MDA # 9,488

L 6,010 3,470 2,520 10 3. 780 1,296 3,564 2,484

&Il 100 100 0 10 3,456 3,348

e 2,513 0 2,513 10 1,620 864
242130 [ A BYA ¥ 11,718

&5 11,718 4,198 7,520 10 4,104 2,160 4104 2916
243102 |Fg/KEEL (K&F|) ¥ 4218

K% 4218 3,633 585 5 3. 456 2. 484 3,780 2,160
243140 |2 K74L ¥ 5,350

EE 1,080 1,080 0 5 2. 095

[N=] 3,820 0 3,820 10 5,940 3,780

HEAR 450 450 0 10 4,104 3,564
243710 [ R EME ¥ 7,320

=R 570 458 113 1.5 2. 484 864 2,376

A 6,750 0 6,750 75 4,860 1,728
244200 [FAELD 3 1,980

£ 1,980 1,175 805 5 4, 860 3, 240 4,860 2,700
245230 [BIESRES % 5,164

R 5,138 4210 928 0.35 540 270 540 281
245240 |EA—R5ES % 3,157

il Ll 3,157 1,383 1,773 5 6, 480 4,752 7,020 4320
245370 | R AAYEANI—A #43 376

& L 256 110 146 Z 1,728 1,080 1,512 1,080

LE 120 60 60 2 1,728 1,512 1,728 1,404
245700 |[<Y) ¥ 1,310

ZIE 910 260 650 10 12, 960 8. 640 11,880 7,560
245820 [t L5 < ¥ 4,960

EE 4,960 491 4,468 [} Z.916 2. 268 2,916 756
247100 [7—JLA A % 153

=t 153 153 of 85 3. 780 2. 160




SFI34E09 A 21H (CKIER)

F A R RS T S (AE5) BHE H

A EIbng e = 12 ko
(S I E B B )
4, . EN7EH (kg o wh5E RIS
RiieS L4 — — Al BAT - — — — —
AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
101 | RERT=\ 275 131 144 Kg | 1,188 184| e 2,160 324
102 |FHEI-) 3,271 3,271 Kg S 2,916 108
111 [ ED 237 28 209 Kg [K% 972 378 . Koy 1,523 378
113 [RROHD 7 4 3] Keg  [FmilE 1,620 216[ e 3,240 2,700
114 |[ZHE-H 193 193 Kg HEE[E] 2,484 1,728
115 [z 10 10 Kg frJE 3,240 1,944
117 [i3% 594 97 497 Kg  [FmjlE 864 378[ FLJiE 3,622 54
121 |[pbixE 102 19 83 Kg | 864 JeJ# 864 432
134 [7=Z 157 81 76 Kg [FmE-TEE 2,800 1,080[J¢ & 1,944 1,080
140 |DIT 8 8 Kg frJE 54,000 10,800
147 [EX O 76 6 70 Kg |&fE 6,480 1,620 =Wy - K5y 7,500 3,500
158 | A LD 1,385 47 1,338 Keg [#EE 1,080 6487 1,296 540
201 |Vl 300 300 Kg S 200
203 [T 85 85 Kg FE] 378 216
205 [#LHL 157 157 Kg KRy 900 638
206 |1 83 83 Kg HEE[E] 840 719
207 |&AE 256 256 Kg JeviEE 2,268 621
208 [7oB 350 350 Kg kL 864 249
212 |FHESD 138 138 Kg EJNN 2,160 1,200
222 |[OBZ 372 372 Kg S 216 90
251 |[KAFESA 121 121 Kg Koy 2,225
252 |WALEESA 121 63 58 Kg  |#%h 2,840 el 2,808
254 |[&bIEESAH 2,184 2,184 Kg ROk L 3,348 1,058
303 [HAZEW 3 3 Kg A 432
305 [Flemok 3 3 Kg frJE 2,700 2,484
306 [WEXDh 5 5 Kg KRy 864
319 [&Hh5 654 654 Kg N 1,188 222
332 |1 EA BPE 293 293 Kg E|RES 1,566 1,242
351 [AEH 6 6] Kg [ 3,780
354 [1ZEH 26 26 Kg fE 1,404 972
355 |V 155 155 Kg REAS - B 1,188 500
356 [LUA 170 170 Kg F5EL 1,620 324
357 [JRE 32 32 Kg HEE[E] 1,620 540
358 [KH 35 10 25 Kg [ZHm 1,080 S 2,160 1,080
401 [Hwp 64 64 Kg S 1,512 756
402 [H7pE 45 45 Kg B 4,428 3,348




PO T FR YL ISR T (AN Y) B H
SFI3EE09 A 21H (CKiEH)

Bk REeEE: 1 R (s 0 2B )
= B R ) ke R M|
S0 n4 A s Fa B FEHE e fECFD [ (P | Z2fE (M) _— JE 1 %1@(?5)0 HE () zﬂlﬁ(?;)o
512 |k 446 446) Ke @% 3,240 1,080
523 | A0 95 | Ke = 7,350 1,242
524 [mEieEz O 110 110  Kg T= 950 594
558  |nf 240 240) Kg o 1,400 1,350
560 |iRi-— 13 13| Ke T= 3,996 2,500
566 [N 18 18] Kg T7E 800
576 |[hoi=) 50 0] Ke




SFI34E09 A 21H (CKIER)

F A R RS T S (AE5) BHE H

AT TR R 129 kv
(S I E B B )

0 Fe sk H05E H%
:Stﬁ* 5 izl 425; (kg) _ e B \ _ 7 _ j TS| _

AH H05E RIS PEH e ED | HE ()| Z2 i) PEH EAE(ED) | FED | ZE)
701 [BHYDA 11,226 11,053 173 Kg | 1,810 644 o 1,404 734
704 [WbLET 16 16 Kg AR 324
710 |95 HIF 78 78 Kg EACETE 3,780 567
751 |E i 142 97 45 Kg | 1,123 1,008] F= & 780
755 |BA®HL 66 66 Kg HEE[E] 816 626
756 |BADETS 29 29 Kg Koy 783
761 [BodAEE 173 11 162 Kg |&fE 1,350 1,281 | fe e - Fsfk (L 1,548 750
768 |&E-Z 5 5 Kg FE T 2,360
801 |HEALXLS 80 80 Kg B|&ES 1,512 1,058
805 [HXIT 1,021 1,021 Kg E[REE 605 410
810 [B K+ 60 60 Kg A5 i) 2,808 1,836




